
JMC Practice Paper F

[image: image1.png]Peg has six times as much chocolate as Reg. Meg has twice as much chocolate as Reg. Peg
has how many times as much chocolate as Meg?

A Three times as much B Four times as much C Eight times as much
D Ten times as much E Twelve times as much



[image: image2.png]Beatrix takes a sheet of paper (shown on the far
left), folds the sheet in half 4 times and punches a
hole all the way through the folded sheet, as shown
on the near left. She then unfolds the sheet. How
many holes are there now in the unfolded sheet?

A4 B 6 Cc8 D12 E 16




[image: image3.png]On Monday last week Dilly started to learn the Tlingit language. Every day she learnt five
new words, but when she woke every morning she had forgotten two of the words learnt the
day before. When did Dilly first achieve her target of learning fourteen words?

A Friday B Monday C Saturday D Thursday E Wednesday

Which one of the sectors in the pie chart represents the mode?

A B C D E &
61° B



[image: image4.png]Which one of these calculations is incorrect?

A dx5+67=45+6x7 B 3x7+48=37+4x8 C 6x3+85=063+8x5
D 2x5+69=25+6x9 E 9x6+73=96+7x3
The diagram shows two equal squares. not

to
What is the value of x? scale

A 140 B 145 C 150 D I55 E 160





[image: image5.png]‘Saturn’ chocolate bars are packed either in boxes of 5 or boxes of 12. What is the smallest
number of full boxes required to pack exactly 2005 ‘Saturn’ bars?

A 118 B 167 C 168 D 170 E 401

The figure shows rectangle PRSU and line QT, which divides P Q

the rectangle into two squares. How many right-angled

triangles can be drawn using any three of the points
P, Q. R, S, T, U as corners?

A8 B9 Cl10 DI2 E 14





[image: image6.png]In a certain code, A =1, B =2, C =3 etc. Words are encoded by multiplying together the
values of their letters, so the code for SQUARE is 19 x 17 x 21 x 1 x 18 x 5 = 610 470.
Similarly, the code for RECTANGLE is 31 752 000. What is the code for TRIANGLE?

A 2116 800 B 2721600 C 19051200 D 25401600 E 52920000

In the diagram, triangle XY Z is isosceles, with Y
XY = XZ. Whatis the value of r in terms of p and ¢? p

Adp-9  Bip+q Cp-g ’
Dp+gq E Impossible to determine A
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